

Indeterminaciones cero partido por cero y uno elevado a infinito

sábado, 23 de septiembre de 2023 15:55

Indeterminación $\frac{0}{0}$

$$a) \lim_{x \rightarrow 1} \frac{x^2 - 3x + 2}{x^2 - 5x + 4} = \frac{1^2 - 3 + 2}{1 - 5 + 4} = \frac{0}{0} \text{ INDET.}$$

$$x^2 - 3x + 2 = 0 \rightarrow x = \frac{3 \pm \sqrt{9 - 8}}{2} = \frac{3 \pm 1}{2} = \begin{matrix} 2 \\ 1 \end{matrix}$$

$$x^2 - 5x + 4 = 0 \rightarrow x = \frac{5 \pm \sqrt{25 - 16}}{2} = \frac{5 \pm 3}{2} = \begin{matrix} 4 \\ 1 \end{matrix}$$

$$\lim_{x \rightarrow 1} \frac{x^2 - 3x + 2}{x^2 - 5x + 4} = \lim_{x \rightarrow 1} \frac{(x-2)(x-1)}{(x-4)(x-1)} = \frac{-1}{-3} = \left(\frac{1}{3}\right)$$

$$-2x^2 + 6x - 4 = 0 \begin{matrix} 2 \\ 1 \end{matrix} \Rightarrow -2x^2 + 6x - 4 = -2(x-2)(x-1)$$

$$b) \lim_{x \rightarrow 2} \frac{\sqrt{3x-2} - 2}{x-2} = \frac{\sqrt{6-2} - 2}{2-2} = \left[\frac{0}{0}\right] \text{ INDET.}$$

$$\lim_{x \rightarrow 2} \frac{\sqrt{3x-2} - 2}{x-2} = \lim_{x \rightarrow 2} \frac{(\sqrt{3x-2} - 2)(\sqrt{3x-2} + 2)}{(x-2)(\sqrt{3x-2} + 2)} = \lim_{x \rightarrow 2} \frac{(\sqrt{3x-2})^2 - 2^2}{(x-2)(\sqrt{3x-2} + 2)} = \lim_{x \rightarrow 2} \frac{3x-2-4}{(x-2)(\sqrt{3x-2} + 2)} =$$

$$= \lim_{x \rightarrow 2} \frac{3x-6}{(x-2)(\sqrt{3x-2} + 2)} = \lim_{x \rightarrow 2} \frac{3(x-2)}{(x-2)(\sqrt{3x-2} + 2)} = \frac{3}{\sqrt{6-2} + 2} = \left(\frac{3}{4}\right)$$

Indeterminación 1^∞

$$\lim_{x \rightarrow \infty} \left(\frac{x^2 + 2x}{x^2 - 1} \right)^{3x+2} = 1^\infty \text{ INDETERMINADO}$$

$$\lim_{x \rightarrow \infty} \left(1 + \frac{1}{x} \right)^x = e$$

$$\boxed{\lim_{x \rightarrow \infty} \left(1 + \frac{1}{f(x)} \right)^{f(x)} = e}$$

$\lim_{x \rightarrow \infty} f(x) = \infty$

$$\lim_{x \rightarrow \infty} \left(\frac{x^2 + 2x}{x^2 - 1} \right)^{3x+2} = \lim_{x \rightarrow \infty} \left(1 + \frac{x^2 + 2x}{x^2 - 1} - 1 \right)^{3x+2} = \lim_{x \rightarrow \infty} \left(1 + \frac{x^2 + 2x - x^2 + 1}{x^2 - 1} \right)^{3x+2} = \lim_{x \rightarrow \infty} \left(1 + \frac{2x+1}{x^2 - 1} \right)^{3x+2} =$$

$$= \lim_{x \rightarrow \infty} \left(1 + \frac{\frac{2x+1}{2x+1}}{\frac{x^2-1}{2x+1}} \right)^{3x+2} = \lim_{x \rightarrow \infty} \left(1 + \frac{1}{\frac{x^2-1}{2x+1}} \right)^{3x+2} = \lim_{x \rightarrow \infty} \left(1 + \frac{1}{\frac{x^2-1}{2x+1}} \right)^{\frac{\frac{x^2-1}{2x+1} \cdot \frac{2x+1}{x^2-1} (3x+2)}{1}} =$$

$$= e^{\lim_{x \rightarrow \infty} \frac{2x+1}{x^2-1} (3x+2)} = e^{\lim_{x \rightarrow \infty} \frac{6x^2 + 4x + 3x + 2}{x^2 - 1}} = \boxed{e^6}$$

$$= e^{\lim_{x \rightarrow \infty} x^2 - 1} = e^{\infty - 1} = \begin{bmatrix} e \\ e \end{bmatrix}$$